Scenarios

I offer the following scenario:

As part of a small group activity, you observe two students trying to decide which was the lowest out of the decimal numbers 0.853 and 0.358. One student says 0.853 is the lowest, the other thinks 0.358 is the lowest.

As a teacher, what might you do in such a situation?

I offer below six different responses which you might make as a teacher and invite you to consider one at a time and catch your feelings about each suggestion. Once you have caught your feelings, work a little harder to account for why you have those feelings. I suggest that such examination can help you articulate some of your beliefs and frameworks which inform the way in which you work with students. I strongly suggest that you work seriously on one response before even reading the next response. To help discipline yourself I recommend you get a sheet of paper where you can cover up all the responses except the one which you are currently working on (and, of course, those that you have already worked on). To help a little with your discipline I have started the scenarios on a new page. So do not read further until you have got your piece of paper and covered up the following page. 

Scenario 1

Ask one student to explain to the other why they thought their decimal was the lowest and vice versa.

Scenario 2

Invite them to do two subtractions:


0.853 – 
0.358 – 


0.358                and                
0.853

Scenario 3

Explain what each of the digits are ‘worth’.

Scenario 4

Ask them what each of the digits are ‘worth’.

Scenario 5

Comment that they both cannot be right (and wait to see whether they begin to discuss the maths involved).

Scenario 6

Write both decimals on the board, one under the other, and reveal columns one number at a time from left to right:


0.


0.


0.8


0.3


0.85


0.35


0.853


0.358

Feedback: some scenarios for consideration

Preamble

It is understood that to really know how we might respond in a particular situation we would like to know more detail than that provided below. Perhaps we would also say such things as 'Well, it depends upon the particular student', etc. This is all acknowledged. I invite you to engage in the task despite the minimal information provided for each scenario (with maybe no information at all about any individual involved). If it helps to engage, you might make your own decisions about factors which might otherwise lead to a response from you of… "Well, it all depends". Perhaps you might even imagine that particular students you have known in the past are players within the scenarios. 

You might also say something along the lines of… "I would never have done that in the first place, so the scenario would never have occurred." In which case, perhaps imagine you are team teaching with a colleague who has been running part of the lesson just before leaving the room after receiving an urgent message. It is when they are out of the room, and possibly not returning, that the scenario takes place.

Lastly, if you are inclined to say "I'd ask them what they meant by that" then go a little further and imagine a response the student makes to that request and what you might then go on to do or say. 

It is not the particular feedback which matters in this task. Articulation of any feedback is only meant as a tool to help you explore the underlying beliefs and frameworks which inform your (past) actions or might inform your future actions.

Rules of how you are to work

Work in groups of 2/3.

Scenarios are to be addressed in the order they appear. I suggest you do not read all the scenarios to start with. I consider it important that each scenario, when worked on, is fresh so that you can catch some immediate responses and work on them. 

Read one scenario and allow time for everyone to personally consider what their response might be to this scenario (or what their reaction is to the stated response – depends upon scenario). This is to be done in silence without discussion at this stage.
One member of the group will be in the 'hot chair' for this scenario. That person is to share with the others what their response might be to this scenario (or what their reaction is to the stated response) and reasons behind their choice of response.

The other members of the group are to ask questions and challenge (in a supportive friendly way!) so as to help the person in the 'hot chair' to articulate the beliefs and frameworks which lie behind their choice of response. Those not in the hot chair are forbidden to express their own opinions! So sentences such as "I would do this…. I would not do that…" are not allowed by these people!

Following this, all members of the group spend a few minutes writing down an articulation of their own beliefs and frameworks which inform their personal response to that particular scenario. It is understood that those who were not in the hot seat would also be working on their own beliefs privately whilst engaged in questioning and challenging the person who was in the hot seat.

The group take turns as to the occupant of the metaphorical 'hot seat', and the process continues with the next scenario.

The object is not to 'get through' all the scenarios on the sheet in this session, but to have dug deeply into what informs decisions you make about the nature of the feedback you offer your students.

Scenarios about number, algebra and geometry

Scenario 1

The problem was to state 64.456 to one decimal place. Most students looked at the second decimal place and decided it should be 64.5.

However, one student appeared to look first at the last decimal place and wrote 64.46, then worked on this to get 64.5.

Scenario 2
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Figure 1

Student claimed that the equation of a graph (see Figure 1) was y = 3x + 1 because you go up three for every one along.


3x + 1
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He then showed this by pointing (see Figure 2).
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Figure 2

Scenario 3

Students are using a grid method to help multiply out brackets. For example: 

	
	x
	3

	x
	x2
	3x

	2
	2x
	6


So (x + 3)(x + 2) = x2 + 3x + 2x + 6 = x2 + 5x + 6. After working on tasks of multiplying out brackets using this grid method, students are asked to use the grid to help do the inverse – factorise expressions.

A girl is trying to factorise x2 + 6x + 9 using the grid and has produced the following grid:

	
	x2
	6

	x
	x3
	6x

	9
	9x2
	54


and writes her answer of (x2 +6)(x + 9).

Scenario 4
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A student writes down the co-ordinate of the above point as (2, 3).

Scenario 5

A student is working on the following question:
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O is the origin. A is at (x1,y1). B is at (x2,y2).



 goes through A and is perpendicular to OB.

m goes through B and is perpendicular to OA.

n goes through O and is perpendicular to AB.

Find the Cartesian equations of the lines 

, m and n;

In beginning to work on the equation for line m, the student states the following:

…the line m passes through (x2 , -y2)…
Scenario 6

Question 1: write 72.048321 to one significant figure.

Answer: 7

Question 2: write 85921.67 to the nearest 10.

Answer: 20

Question 3: write 2.8254 to two decimal places.

Answer: 2.8300

Scenario 7

Someone's work on converting fractions to percentages:

[image: image13.png]TugTive

e LEE
(e

<)
(oo

=7 >
o

—

e

Tt %




Later on, changing four sevenths into a decimal:

Scenario 8

On an isometric dot grid (with one unit distance between horizontal dots), a student draws the following and says that the area of this shape is 1 square unit. 
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Scenario 9

One girl produces a grid (see scenario 3) to factorise y2 + 7y + 6:

	
	y
	2

	y
	y2
	2y

	3
	3y
	6


Another girl explains to her that the diagonal needs to add up to 7y and after some discussion the first girl changes her grid to the following:

	
	y
	2 6

	y
	y2
	2y

	3 1
	3y
	6


and writes her answer as y2 + 7y + 6 = (y + 6)(y + 1).

Scenario 10

A student has the formula for the area of a triangle written as:

area = base x height

Scenario 11

You overhear one boy explaining about 
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 to another who had written 105: Just add a nought on the end… (pause) … only it’s different for decimals.

Scenario 12

A pupil tries to reflect a shape in a mirror:
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Scenario 13

Working on simplifying fractions. Having discussed 
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 and that this was equivalent to 
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, and that since 19 was prime it was a matter of whether 19 went into 76. The teacher then asked what about 
[image: image10.wmf]75

19

 and one girl asked whether it would be “
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remainder 1”.

A little later, a lad suggested a method for answering the challenge: 
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 He said “cube it” (the class had been working on cubing numbers a few lessons before).
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